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Type 3: Mixture Problems

Ex1 A chemical supply company received an order for 1500L of 38% salt solution. To fill the order it was
necessary to mix 40% salt solution with 30% salt solution. How many litres of each should be mixed?
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Type 4: Distance, Speed, Time Problems

Ex2 Batman drove 230km to Catwoman’s house and it took him 4 hours. Part of the time, he was on the highway in
Arkham City where the speed limit is 110km/h. The rest of the time he had to drive on the smaller roads where the
speed limit is 40km/h so that Joker’s spies would not notice him. Suppose that Batman drove exactly at the speed
limit the whole trip, how much time did Batman spend on each type of the road?
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Ex3 [t took a patrol boat 5 hours to travel 60km up a river against the current and 3 hours for the return trip with
the current. F1nd the speed of the boat in still water and the speed of the current.

bt b“ Tre speed of b boat in still wake

W c\w “ W oW cusrent _ 3
current(c
distance. | steed time —> _ boqt(b)
o G [bc |5 —

A 3
@) 6o | bie Hm:)v—

\\(/ divide each 6’5 5’(54)

4, Lo — 5_(b C) §:de by 9 f -‘o - o
@ o - '5(|:>+¢)-—e dldf;(;d‘ ? B’(b"'c) 20- bt+c fcjy'f%ﬁ
=b-c The boal's soeed in sill wek
lQ = B-C. ’()\ . [gg
:.@20 = b+cC 2. =6 - ¢ ‘ ’”"%, and currert's J,xd
i (2-16 _~¢ (s Y bosh

o= b £ o4
3L =2b
Uﬁﬂ (£=4]

“Y=--¢
S

COMPLETE:p.46 - #7,8,9,10,13, 14 Page 2



